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WEST BENGAL STATE UNIVERSITY
BBA Honours 1st Semester Examination, 2021-22

BBAACORO1T-BBA (CC1)
PRINCIPLES OF MANAGEMENT AND ORGANIZATIONAL BEHAVIOUR

Time Allotted: 2 Hours Full Marks: 50

The figures in the margin indicate full marks.
Candidates should answer in their own words and adhere to the word limit as practicable.

GROUP-A
Answer any two questions from the following 10x2 = 20
1. (a) Why the Managers use group in decision making? 3
(b) Discuss about the planning procedure. 7

2. (a) What do you understand by Group Cohesiveness?
(b) State about the different types of Group.

3. (a) What are the different sources of conflict in an organization? 5

(b) Discuss the procedures for Management of Conflict. 5
GROUP-B

Answer any two questions from the following 15x2 =30

4. State the advantages of Decentralization. Distinguish between Delegation and 8+7

Decentralization.

5. Elaborate the qualities of a Charismatic Leader. Discuss about contemporary 8+7
issues related to Leadership.

6. What does it meant by Organizational Change? Elucidate the concept of 2+6+7
Resistance to Change in an organization. What are the procedures for
implementing those changes?

N.B. : Students have to complete submission of their Answer Scripts through E-mail / Whatsapp to
their own respective colleges on the same day / date of examination within 1 hour after end
of exam. University / College authorities will not be held responsible for wrong submission
(at in proper address). Students are strongly advised not to submit multiple copies of the
same answer script.
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WEST BENGAL STATE UNIVERSITY
BBA(TAH) Honours 1st Semester Examination, 2021-22

BTHACORO2T-BBA(TAH) (CC2)
FUNDAMENTALS OF TOURISM MANAGEMENT

Time Allotted: 2 Hours Full Marks: 50

10.

11.

12.

1090

The figures in the margin indicate full marks.
Candidates should answer in their own words and adhere to the word limit as practicable.

GROUP-A
Answer any two questions from the following 10x2 = 20
What are the barriers of international travel? How does the health regulation gain 5+5

more importance in international tourism?

Define travel motivation. Discuss any two content theories of motivation with 2+8
respect to travel motives of tourists.

Discuss on Stanley Plog’s Model of Destination Preferences. 10
Discuss Cohen’s typology and Smith’s typology of tourists. 5+5
What do you mean by Tourism network? How are the tourists classified? 10
What is a tourist destination? How to develop its supply side components? 2+8
GROUP-B

Answer any two questions from the following 15%2 = 30
Define tourism impact. Discuss its types. 2+13
Write the role of WTO for development of Tourism. What is FHRAI? 10+5
Briefly discuss the history of Transportation and its impact on Tourism 7+8

Development.

Define alternative tourism. Discuss its types. 3+12
Discuss on Domestic Tourism, International Tourism and MICE Tourism. 5+5+5
Who is a traveler? What are the differences among tourist, traveler and an 5+10

excursionist?

N.B.: Students have to complete submission of their Answer Scripts through E-mail / Whatsapp to
their own respective colleges on the same day / date of examination within 1 hour after end
of exam. University / College authorities will not be held responsible for wrong submission
(at in proper address). Students are strongly advised not to submit multiple copies of the
same answer script.
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Time Allotted: 2 Hours
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WEST BENGAL STATE UNIVERSITY
BBA Honours 1st Semester Examination, 2021-22

BBAACOR02T-BBA (CC2)

FINANCIAL ACCOUNTING

The figures in the margin indicate full marks.
Candidates should answer in their own words and adhere to the word limit as practicable.
All symbols are of usual significance.

GROUP-A
Answer any two questions from the following

What do you mean by Financial Accounting? Briefly explain the importance of
Financial Accounting.

ABC Company gives you the following details:

Date of Purchase | Cost of Machine (Rs.)
1.4.2019 60,000
1.10.2019 40,000
1.7.2020 20,000

On 1.1.2021, one-third of the machinery which was purchased on 1.4.2019 was
sold for Rs. 10,000. The company charges depreciation on Machinery @ 10% p.a.
under Straight Line Method. Prepare Machinery Account in the books of the
company up to 31.12.2021 assuming that the company closes its books on 31%
December every year.

Briefly describe the salient provisions of Ind AS 1.

Show Journal Entries in the books of Mr. Roy to rectify the following errors
assuming that these are detected after the preparation of Trial Balance. Also
prepare the Suspense Account.

(i)
(i)

(ii)
(iv)
V)

Return Inward Book was overcast by Rs. 2,000.

Wages paid to Mr. Banerjee for Rs. 1,300 but debited to his personal
account.

A cash sale of Rs. 1,335 duly entered in the Cash Book but posted to sales
account as Rs. 2,335.

A purchase of Machinery for Rs. 2,600 was passed through Purchase Day
Book.

A credit purchase of Rs. 2,000 from B. Roy has been credited to C. Roy.

Full Marks: 50

10x2 = 20
2+8

10

10

10

Turn Over



CBCS/BBA/Hons./1st Sem./BBAACOR02T/2021-22

5.
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Write short notes on the following: (Any two)
(1)  Accounting Equation

(i) Principle of Conservatism

(iii) GAAP.

Distinguish between Reserves and Provisions. What do you mean by Adjustment
Entries?

GROUP-B
Answer any two questions from the following

Briefly explain the benefits of Accounting Standard. Write a short note on IFRS.

From the following Trial Balance of Mr. X, prepare a Trading and Profit and Loss
Account for the year ended 31.12.2021 and a Balance Sheet as on the date:

Particulars Amount (Rs.) Particulars Amount (Rs.)
Furniture 10,000 | Bills Payable 5,000
Opening Stock 30,000 | Purchase Return 1,200
Sundry Debtors 40,000 | Capital 70,000
Machinery 50,000 | Discount Received 700
Purchases 1,70,000 | Sales 2,31,000
Bill Receivable 11,000 | Loan fromY 10,000
Carriage Inward 1,300 | Sundry Creditors 30,000
Carriage Outward 900 | Provision for Bad Debts 1,600
Import Duty 1,600
Discount Allowed 700
Sales Return 2,000
Salaries 12,000
Wages 10,000
Cash at Bank 9,000
Cash in Hand 1,000

TOTAL 3,49,500 TOTAL 3,49,500

Additional Information:

() Goods for Rs. 10,000 were destroyed by fire and the insurance company
admitted a claim of Rs. 6,500.

(i)
(i)
(iv)

(v)
Debtors.

(Vi)

yet recorded in the books.

Closing Stock was valued at Rs. 40,000.
Wages include Rs. 3,000 paid for Installation of Machinery.

Provide Depreciation at 10% p.a. on Machinery and 5% p.a. on Furniture.
Write off Rs. 1,500 as bad debt and create provision for bad debts at 5% on

The proprietor has taken over goods for Rs. 2,500 for personal use but not

5+5

8+2

15x2 =30
10+5

4+6+5
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9.

10.

11.

12.
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Briefly discuss the causes of charging depreciation on fixed tangible assets.
Distinguish between Straight Line Method and Written Down Value Method of
charging depreciation.

X and Y are the partners of a firm sharing Profits and Losses as 3:2. Their
Balance Sheet as on 31.12.2021 is as follows:

Liabilities Rs. Rs. Assets Rs. Rs.

Building 30,000
Capital A/Cs Machinery 25,000
X 40,000 Stock 16,000

Y 20,000 | 60,000 | Debtors 40,000
Reserves 15,000 | Less: Provision for Bad Debts | 5,000 | 35,000
Creditors 38,000 | Cash and Bank Balance 9,000

Bills Payable 2,000

Total 1,15,000 Total 1,15,000

On 1.1.2022, they took Z as their new partner on the following conditions:

(i) Machinery should be depreciated by 10%, Building should be increased to
Rs. 35,000 and Stock should be reduced by Rs. 6,000

(if) Provision for bad debts should be increased by Rs. 3,000

(iii) Z should bring in capital amounting to 25% of the adjusted capitals of the
old partners

Prepare Revaluation Account; Partners’ Capital Accounts and the Opening
Balance Sheet of the new firm.

Write short notes on the following: (Any two)
(1) Advantages of Cash Flow Statement

(i) Fixed and Fluctuating Capital Accounts
(iii) Bank Reconciliation Statement.

A, B and C are the partners sharing profits and losses as 2:2:1. They get interest
on their capitals at 5% p.a. and are charged 6% p.a. on their Drawings.

A and B are paid salary of Rs. 250 and Rs. 150 per month respectively. A paid a
loan of Rs. 25,000 on 1% July, 2020 at an interest of 6% on loan. A, B and C
withdrew Rs. 10,000, Rs. 8,000 and Rs. 6,000 respectively during 2020. C is
entitled to a commission of 2% on total sales. Sales amounted to Rs. 3,46,000. On
1% January, 2020 the capital balances of A, B and C were Rs. 1,00,000,
Rs. 80,000 and Rs. 60,000 respectively. The net profit for the year was
Rs. 1,00,000.

Prepare Profit & Loss Appropriation Account and the Capital Accounts of the
Partners.

N.B. : Students have to complete submission of their Answer Scripts through E-mail / Whatsapp to
their own respective colleges on the same day / date of examination within 1 hour after end
of exam. University / College authorities will not be held responsible for wrong submission
(at in proper address). Students are strongly advised not to submit multiple copies of the
same answer script.

5+10

1 o=
77 x2=15
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BBAHGECO01T-BBA (GE1)

MODERATION OF BUSINESS MATHEMATICS AND STATISTICS
Time Allotted: 2 Hours Full Marks: 50

The figures in the margin indicate full marks.
Candidates should answer in their own words and adhere to the word limit as practicable.
All symbols are of usual significance.

I. Answer any five questions from the following: 2x5=10
(@) If A={a,b,c,d,e, f}, B={d,e, f, g, h}, then show that (4UB) =4A'"NB’".
(b) For two sets 4 and B, find AAB by Venn diagram.
X 2 8
(c) If 2| y |+3] 3 |=| 13|, then find x, y and z.
z 5 21

3
(d) If 4=|2
2

[\ JERVS I 9}

2
2 |, show that A" exists.
3

x—-1 1 1
(e) Find the value of x when| 1 x+1 —1]=0.
-1 I x+1

0 If f (x)=log;—i,then show that f(x)+ f(y)= f( 1x++x3; J

(g) If x=+1+¢ and y=+/1—¢, then find ﬂ

dx
(h) What are the different parts of a statistical table?
(1) Find the quartiles of the numbers 12, 19, 21, 24, 26, 29, 33, 35, 36.

(j) The A.M. of 100 numbers is 40. It is seen that one number has been printed wrongly
as 53 in place of 83. Find the correct A.M.

2. Answer any four questions from the following: 5x4 =120

(a) A, B, C are subset of a universal set S. Prove that
[AN(BUC)N[A V(B NCH]=¢

a a+b a+b+c
(b) Evaluate |2a 3a+2b 4a+3b+2c|.
3a 6a+3b 10a+6b+3c

2 3
(c) For the matrix 4= (3 5} , show that 42 =74—1. Hence find 47".
2

(d) Examine the maximum and minimum of the function f(x)=4+2x-x".
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(e) When a boy is born, Rs. 500 is placed to his credit in a bank. If the bank pays 6%
compounded monthly, how much will the boy receive when he will reach the age of
20?

(f) Construct from the following data a frequency distribution table with 10 equal class
intervals.

31, 33, 35, 47, 36, 40, 37, 40, 41, 39, 42, 39, 41, 38, 43, 38, 41, 44,
44, 47, 40, 37, 43, 42, 45, 39, 34, 48, 46, 35, 42, 43, 37, 40, 41, 40

(g) What do you mean by Time Series? Briefly describe the components of time series.

(h) If two variables x and y satisfy the relationship y=5+6x, find the correlation
coefficient between x and y.

3. Answer any two questions from the following: 10x2=20
(a) (1) Solve by Cramer’s Rule: 5+5
x=2y+z=-1, 3x+y-2z=4, y—-z=1
(i) Find the adjoint matrix

1 1 1
A=[a;]=2 1 -3
-1 2 3
. dhy . 3 )
(b) (1) Fmd? if y=t7-3t, x=t"+2t. 5+5

(i1) Show that the maximum rectangle with a given perimeter is a square.
(c) Calculate the A.M. and the Mean Deviation from A.M. from the following 10
frequency distribution.

Values 20-29 | 30-39 | 40-49 | 50-59 | 60-69 | 70-79

Frequency 5 11 18 22 16 8
(d) The marks obtained by 10 students in Mathematics and Statistics are as follows: 10
Roll No. 1 2 3 4 5 6 7 8 9 | 10

Marks in Mathematics | 78 | 36 | 98 | 25 | 75 | 82 | 90 | 62 | 65 | 39
Marks in Statistics 84 | 51 191 | 60 | 68 | 62 | 86 | 58 | 53 | 47

Find Spearman’s rank correlation coefficient.

(e) From the following data find Fisher’s Index Number: 10
Commodity Rate / Unit Quantity | Base Year | Current Year | Base Year | Current Year
A 8 7 100 110
B 8.5 9 80 90
C 13 8 50 55
() Fit a straight line trend by method of least square and estimate the value for 2020. 10
Year | 2010 | 2011 | 2012 | 2013 | 2014 | 2015 | 2016 | 2017
Value 8 9 10 6 7 9 12 8

N.B. : Students have to complete submission of their Answer Scripts through E-mail / Whatsapp to
their own respective colleges on the same day / date of examination within 1 hour after end of
exam. University / College authorities will not be held responsible for wrong submission (at in
proper address). Students are strongly advised not to submit multiple copies of the same answer
script.

X

1139 2



